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Missing Decimal Multiplicand

Find the missing multiplicand.

0.120.6 x =

0.320.4 x =

0.71.4 x =

0.150.1 x =

0.660.3 x =

0.422.1 x =

0.541.8 x =

0.490.7 x =

0.150.3 x =

0.721.2 x =

1.531.7 x =

0.020.1 x =

0.030.3 x =

0.770.7 x =

0.30.6 x =

0.481.2 x =

0.630.7 x =

32.5 x =

0.230.1 x =

0.171.7 x =
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Answers

Find the missing multiplicand.

0.120.6 0.2x =

0.320.4 0.8x =

0.71.4 0.5x =

0.150.1 1.5x =

0.660.3 2.2x =

0.422.1 0.2x =

0.541.8 0.3x =

0.490.7 0.7x =

0.150.3 0.5x =

0.721.2 0.6x =

1.531.7 0.9x =

0.020.1 0.2x =

0.030.3 0.1x =

0.770.7 1.1x =

0.30.6 0.5x =

0.481.2 0.4x =

0.630.7 0.9x =

32.5 1.2x =

0.230.1 2.3x =

0.171.7 0.1x =


